ET** [GeV] || Lost lepton Z(vv) Rare QCD total SM Ndata

Np = 0, Noy = 0, pr(ISR) > 500GeV,2 < N, < 5

450—550 935+73 [ 1672119 [ 58£29 73E£37 |2738+£176 2704
550650 498439 | 1318484 | 38+19 28+14 | 18834113 1942
650—750 202419 | 597443 | 19£10 | 9.6+49 | 828+55 823
> 750 135+14 | 520£38 14+7 79+42 | 676+46 618
Np =0, Nsy = 0, pr(ISR) > 500GeV, N; > 6
450—550 115+12 | 106+ 10 10+£5 2010 | 251+22 265
550—650 52+6 74+7 55+28 | 73+38 | 139+12 145
650—750 27+4 38+5 30+£16 | 23+13 707 54
> 750 21+4 42+5 38420 49783 72730 78
Ny =0, Nsy > 1, pr(ISR) > 500GeV,2 < N; < 5
450—550 25+5 27+3 [ 06+047 [ 12£07 54E6 37
550—650 76+25 20+£2 | 0474037 | 1372 2944 37
650—750 52127 92411 | 046+04 | 027103 15143 8
> 750 20130 80+1.0 | 034£026| 05197, 1142 8
Np =0, Nsy > 1, pr(ISR) > 500GeV, N, > 6
450-550 45721 22404 [035+£029] 0197517 72722 6
550—650 <1.08 1.8+£0.3 | 0.07+005| 0111 | 2042 3
650—750 <122 | 0794017 | 0.07£005 | 0.05%0% | 09157 1
> 750 <074 | 0.65+0.14 | 0.05+£0.05 | 0037903 | 073177 2
Ny = 1, Nsy = 0, mr(by 5, ET™) < 175 GeV, 300 < pr(ISR) < 500 GeV, pr(b) < 40 GeV
300—400 410+38 | 318+29 14+7 32+17 | 774%57 753
400500 6411 77+£10 | 38%£19 | 63£39 | 151+16 147
500—600 477539 76+22 | 05+03 |083+£059 | 1473 13
> 600 24121 0341070 | 0.11+£0.07 | 0144011 | 2923 5
Ny = 1, Nsy = 0, m1(b; 5, EF™) < 175 GeV, 300 < pr(ISR) < 500 GeV, 40 < pr(b) < 70GeV
300—400 285+33 | 14015 | 83£38 | 86+47 | 442+39 375
400500 50+ 10 23+4 17409 | 21£15 | 7611 76
500—600 64142 23713 10224013 | 0.08+£0.06 | 9.0748 5
> 600 <0.83 1.6+ 0024003 | 0.02£0.02 | 1724 0
Np =1, Ngy = 0, mr (b, ET*) < 175 GeV, pr(ISR) > 500 GeV, pr(b) < 40 GeV
450—550 31+6 19+4 19£11 | 20+£12 54£8 41
550-650 | 93430 | 78420 |0.62+042| 057704 | 1844 24
650—750 17723 75+£22 | 001017 | 0.06 b8 93732 7
> 750 <148 40721 ] 01601 | 01150 42732 4
Ny = 1, Nsy = 0, m1(by , EF™) < 175 GeV, pr(ISR) > 500 GeV, 40 < pr(b) < 70 GeV
450550 2%5 66+17 | 14£08 | 13£08 31+£5 18
550—650 117+ 55+18 |031+£018| 0.17+01S 1778 23
650—750 3.07%¢ 25717 [ 0.08+£0.09 | 0.0670 56737 4
> 750 1.7+22 3173+ 1014+0.09 | 00715 4973¢ 3
Ny =1, Noy > 1, mr(by,, EF™) < 175 GeV, pr(b) < 40GeV
300—400 3848 16+5 1.1£0.6 1.0559 5610 44
400—500 49738 29+£10 [016+0.13| 058102, | 8.613% 6
> 500 14715 | 0864031 | 0.03+£0.03 | 0.04700 23720 4
Np > 2, mr(by,, EF) <175 GeV, 300 < pr(ISR) < 500 GeV, pr(b;,) < 80 GeV
300—400 47 +8 16+5 22+10 2078 68730 57
400—500 6.7 3¢ 55424 |0394023 | 0197938 1344 7
> 500 3613 07% 1008+£005| <001 447437 1
N, > 2, m(by,, EF') <175 GeV, 300 < pr(ISR) < 500 GeV, 80 < pr(by,) < 140 GeV
300—400 12113 20£5 42%17 | 42£25 | 149+£15 149
400-500 21+5 55+20 | 12£06 | 0.8873 3¢ 2878 19
> 500 17418 16115 | 0274+0.16 [ 0014001 | 36738 4
Np > 2, mr(by 5, ER) <175 GeV, 300 < pr(ISR) < 500GeV, pr(by,) > 140GeV, N; > 7
300—400 52+8 35719 14£06 | 29+18 60+8 54
400—500 13+3 071108 | 041+0.16 | 018108 1545 12
> 500 18119 047102 1004015 | 007100 | 24737 6
Np > 2, mr(by 5, EF) < 175 GeV, pr(ISR) > 500 GeV, pr(by,) < 80GeV
450—550 25722 0527038 [015+008 | 01705 3371 6
550650 <1.59 1442 | 0024006 | 005700 | 1427 2
> 650 <075 <033 | 015+0.14 | 0.06708% | 0.21F1% 5
Np > 2, mr(by,, EF™) <175 GeV, pr(ISR) > 500 GeV, 80 < pr(by,) < 140GeV
450-550 64739 19753 ]033+£022] 05870% 92737 7
550—650 3.07%¢ 0.6370% | 024+0.16 | 0.07 0% 39730 1
> 650 0657028 | 07870 | 03£023 | 0.0375% 1.8728 1
Ny > 2, my(by 5, EF) <175 GeV, pr(ISR) > 500 GeV, pr(by,) > 140GeV, N; > 7
450-550 12+3 01270% [034+£019| 11703 13+3 22
550—650 53138 0294051 | 0.07+£0.1 | 036105 6.0 132 5
> 650 447138 <0.85 | 0424041 01405 497133 1




